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QUESTION 1

Click the Exhibit button. 

Referring to the exhibit, which two statements are correct? (Choose two.) 

A. You should use CoS schedulers for traffic leaving the spine devices and going to the leaf devices. 

B. You should use CoS schedulers for traffic leaving the leaf devices and going to the spine devices. 

C. You should use CoS schedulers for traffic coming into the spine devices from the leaf devices. 

D. You should use CoS schedulers for traffic coming into the leaf devices from the servers. 

Correct Answer: AB 

 

QUESTION 2

Which two statements describe SDN? (Choose two.) 

A. SDN can alleviate the need for manually configuring each network device. 

B. SDN moves forwarding functions to a centralized management platform. 

C. SDN combines the control plane and the forwarding plane into a single fabric. 

D. SDN moves compute intensive functions to a centralized controller. 

Correct Answer: AD 
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QUESTION 3

You are designing a large IP fabric and must determine if you should use IBGP or EBGP to signal your underlay. 

Which statement is correct in this scenario? 

A. EBGP will require that an IGP is also configured for load balancing. 

B. EBGP will require a full mesh on all devices for load balancing. 

C. EBGP will require that you include the add-path feature for load balancing. 

D. EBGP will require that you include the multipath and multiple-as features for load balancing. 

Correct Answer: C 

 

QUESTION 4

Which three statements about Contrail Networking are true? (Choose three.) 

A. It is used to service chain network functions. 

B. It is used to program physical network functions. 

C. It is used to virtualize and program networks. 

D. It is used to virtualize and program compute. 

E. It is used to create distributed cloud storage. 

Correct Answer: ACE 

 

QUESTION 5

Click the Exhibit button. 
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You need to ensure that no single point of failure exists in a new data center that will be deployed. Referring to the
exhibit, which two technologies will accomplish this requirement? (Choose two.) 

A. Virtual Chassis 

B. LLDP 

C. MC-LAG 

D. LAG 

Correct Answer: AC 
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